o(d dxy) (cm)

1074

Rati

0.95 i

o(d o) (rad)

= H: : Py
m :F,- - | 9 - .
-8 Y i HEANES rY
Tt STT1eTT9 EANPS e hdES
H: T 2 <4 T T4
H: E >- o -
o -0 pe cdibae :

0.95 i

I 111 | 1111 1 11 11 111 1 11 1
H 3 - |
5 : - 5
e 2 - 1o i -9 T T
1L § P 5 L4l | 2
dEE =S - R : :
S N ) bt AN SN AR AAEd -9
. <[ <L
g & - -
-+ e | : el
I: 2| : b <+
: Ul ]
i i

1 o 1 2 3

.
£ :
o _:................................. ....................................
N
—~~

N
-D e e ——
- ;
N
o

107

I 11 1 11 1 1 11 1 11 11 1 1 11 1
: ] +: : :
: +
T4 . Py
-+ : - :
T + |t < | |7 4 - o
- [ W T S SR B T 111
+| -
- - . -
i

—=— DQM_V0001_R000000001__Global__CMSSW._original
—e— DQM_V0001_R000000001__Global __CMSSW._cleaner

-

10 1 2 3
TP ® (PCA to beamline)

~107?
o

-

oG p./

2 3
TP ® (PCA to beamline)



	Contents
	Page 1


